PART PART ~ ~
it CABLE CLIP PACKAGE = CM-2220 & CM-2221
MATERIAL: 16 GA. SPRING STEEL MATERIAL' 16 GA. SPRING STEEL
FINISH: BLACK FINISH: BLACK 2219
1156 0472 —a e
0195 %\1;5 i) 0172 b1es ——|—~—0172
‘ r 0.187 ——|<— 0172 0195 TYP, —>‘*— — 0187 ‘
? . * 2313 2500
3963 3 REF | [ 3750 7 pewe
Rl ot booees— |1
CM-2220 0562 ——| |=— CM-p221
SUPPLIED WITH (3) CABLE CLIP BRACKETS SUPPLIED WITH (3) CABLE CLIP BRACKETS
PART - PART -
e CABLE MANAGEMENT PANEL - 1U e CM-2225

MATERIAL: 18 GA. STEEL

SUPPLIED WITH:
FINISH: BLACK

QTY. (1) #CM-2220 CABLE CLIP PACKAGE
QTY. (4> #10-32 x 5/8 LG, SCREWS
QTY. (4> #12-24 x 1/2 LG, SCREWS

19.000
(8 SPACES @ 2.000 = 16,000 ———
' 0.328
‘ — 0,234
- @ [c3)
1718 0859 |; | 1250
f J _f 0.278 x 0.406 f
0.278 REF. 0.750 SQUARE OBROUND
0.500 —=—{ [=— (9) PLACES
(4) HOLES
PART ~ PART _
NAME CABLE MANAGEMENT PANEL - 2U No. CM-2227

MATERIAL: 18 GA. STEEL

SUPPLIED WITH:
FINISH: BLACK

QTY. (1) #CM-2220 CABLE CLIP PACKAGE
QTY. (1) #CM-2221 CABLE CLIP PACKAGE
QTY. (4> #10-32 x 5/8 LG, SCREWS
QTY. (4> #12-24 x 1/2 LG. SCREWS

19,000
(4) SPACES @ 3937 = 15748 1062 TYP.
l~—(3) SPACES @ 3937 = 11,811 — ' 0.328
i ‘ — 0234
T @ F— - —-— o ———F:]
I L v I v Tt s N v L = I o B s L B v o
3468 * 2250 | 1062 [1gH o o &5 0 &5 0 ,':|:',£u 3.000
| 1203 R SR s S S R Sy I_IJ}
v L o—— 11 s f —— _f
? _f _f 0750 SQUARE —/ 0278 x 0.406
0.500 —>| |<— 0609 — 0.278 REF, (28) PLACES OBROUND

(4) HOLES




